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ES A 3,616,515 3,988,286 AB71,771
500 2x3 3,616,515 3,988,286 A371,771
510 2NE2E3S 2,874,660 2,758,777 115,883
511 2NBX2E 2,874,660 2,758,777 115,883
511-01 202 %2 135,883 20,000 115,883
[ 283 ] 135,883 20,000 115,883
< HSAEAE L > 135,883 20,000 115,883
OM165 EHE(AtHH) DN R(MCIZ) (L) 700 0 700
OM155 EBHE(22tH) MSAL Tai=? 75,792 0 75,792
OM165 EHE (&HHH) HMSAIA THER 39,391 0 39,391
520 Al - SHIBEZS 741,855 1,229,509 N 487,654
521 Al - SHIBX2S 741,855 1,229,509 A 487,654
521-01 Al - SHIBZZ2ES 741,855 1,229,509 N 487,654
[ Lersl A ] 741,855 1,229,509 487,654
< HSAEAL LS > 741,855 1,229,509 A 487,654
gl VS HE Y 0 1,000,000 1,000,000
OA2 HE2SZHII? S5 XA(LEH) 34,430 27,000 7,430
OSOE H4alE RY&4 FE2 X2 0 40,000 A40,000
OM165 EHE(AtHH) D= (XCIZ)(LEA) 150 0 150
OM155 EiZ (=) MSAL D=7 37,896 0 37,896
OM16% EHZ(&HHE) HMSAIE TloH=EF 6,870 0 6,870
OFHMEBHSIA L (MFAH) 500,000 0 500,000




